EXAMPLE 1

Find the best predicted value of y for x = 4 given that r = 0.941, y = 7, n = 36.  
The equation of the regression line is y = 8 + 4x.
Solution:

Because r = 0.941 is close to 1, it reflects a strong correlation; the line fits our data very closely. That means that we may use it to find the predicted value.  Using the given equation and  x = 4 find:
y = 8 + 4 ∙ 4 = 24.0
Answer:  y = 24

EXAMPLE 2

Find the best predicted value of y for x = -1 given that r = 0.22, y = 6, n = 24. The equation of the regression line is y = 5 +7x. 
Solution:

Because r is very close to 0, the regression line does not represent our data and therefore useless for predictions.  Our best strategy in this case is to use the actual (observed) value of y that corresponds to x = -1.
Answer: y = 6
